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Solving Word Problems. (25pts)

1. Each coach can carry 130 passengers.
How many passengers do 3 coaches carry?

Answer:

2. Kate had 540 marbles. She divided them equally into 5 jars.

How many marbles were there in each jar?

Answer:

3. Arice cooker costs $ 639.
It costs 9 times as much as a pan.
How much does the pan cost?

Answer:

4, A mini bus can only carry 9 people,

What is the smallest number of buses needed to carry 156 people?

Answer:
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5. Ms. Daisy packed 295 pies into some boxes.

She packed 8 pies in each box.

a. How many boxes did she use?

Answer:

b. How many pies were unpacked?

Answer:
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*** End of paper

toLIVEWORKSHEETS



